Meérési

Elérhet6 |Elért eredmény

Mérési azonosito Evfolyam [Osztily [Idegen nyelv |Jelenlét [potszam [pontszam |(szazalék)
V995-K375 8 a angol R 40 15 37%
E377-5186 8 a angol R 40 35 87%
K551-G199 8 a angol R 40 28 70%
M988-C987 8 a angol R 40 17 42%
J596-H633 8 a angol R 40 33 82%
R333-5923 8 a angol H 40 0 n.a.
R995-P371 8 a angol R 40 30 75%
N543-K759 8 a angol R 40 29 72%
W721-G391 8 a angol R 40 13 32%
A858-L575 8 a angol R 40 40 100%
G625-V980 8 a angol R 40 10 25%
N213-C510 8 b angol M 0 0 n.a.
S639-V166 8 b angol R 40 17 42%
V732-U751 8 b angol R 40 19 47%
S$382-U968 8 b angol R 40 26 65%
K672-A585 8 b angol R 40 37 92%
R536-C867 8 b angol R 40 27 67%
D885-D931 8 b angol R 40 23 57%
A175-W658 8 b angol R 40 35 87%
L361-K283 8 b angol R 40 36 90%
T595-C943 8 b angol R 40 23 57%




